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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Black or Blue ink to write and pencil to draw diagrams.

UGS - 2 / PART - A

GO : () Sewensg anmssEnsEh alawaldsab. 30x1=30

Note

(i) sfwrer elenLewws CoTBOSHSSH T (LS.
: (i) Answer all questions.
(ii) Choose and write the correct answer.

e eumeuamdmeT e gavar Geaadaidr efwsluBss LwaTLBSSULHID
poD

(1) WlemenmLi@LiLy (=,) WegIeneTLITSSLD

(@) Brrduesse () @aawged

One of the following process is employed to introduce a foreign gene into a cell :
(a) electrolysis (b) electroporation

(c) hydrolysis (d) ligation

[ Sgpliys / Turn over
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2.

Gemaumeuaneupmier 5C Garob 6rg) ?
(1) urevGurélafiggragman® (=) erflgCrmen LTELGLIL

(@) evsa)Gamen LImevGLIL () GeLrGantihCeomren LmrenvGLil

Which of the following is a 5C compound ?
(a) Phosphoglyceraldehyde (b) Erythrose phosphate

(¢) Xylulose phosphate (d) Sedoheptulose phosphate

Sroepsflurarg safloeorrs GMEsHD L HSIETET STaurLd
(<21) eradlemmiicn (<=1) eoreflumr

(&) devysmpdliold (F) CreSlwm

The head is reduced to single flower in :
(a) Echinops (b) Launaea

(¢) Chrysanthemum (d) Dahlia

aThg sraursle aflGsr e auffev fliefi LIHPSMS ol sem_HbarT ?
(1) Qarrssd (=) Blw,Crmev Cuimym

(@) FGamr&ym emwmiédlwrem (/) engsm engm&Ten

Hugo de Vries first used the term mutation based on his observation on :
(a) Sorghum (b) Neurospora

() Oenothera Lamarckiana - (d) Cicer gigas
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& @mig urevl Brit Qupuu@dng. @& suiln swrflEss LwetGEng.
(1) Qe Swr urdiyeeiwr
(<21) FLOLTEVSHEN 6TV G0l 6
(@) anQevagen Crrar-ensarendlev

(FF) ewamiGevsen Clgemermiemen

___ yields bast fibers, which are used for making ropes.

(a) Thespesia populnea
(b) Abelmoschus esculentus
(c) Hibiscus rosa - sinensis

(d) Hibiscus cannabinus

eplACwE @ ib Quomierer cuflens
(=) @eeLuGry (<=1,) Qani_ig CrmACy
(@) eusriCuoGal G (/) welltessCGoucen

Rubiaceae is placed under the series :
(a) Inferae (b) Heteromerae

(c) Bicarpellatae (d) Unisexuales

Qereorafen wHMD sCuraien yHwumar QUDLILIGIWL STeuFDd
(1) SsTOlUT G)ariq &m (<=,) géle wridlemen

(8) Qsrerand ep&rLDd () eowCorer LigsT

Solanin and saponin are extracted from :
(a) Acalypha indica (b) Aegle marmelos

(c) Solanum nigrum (d) Mimosa pudica

[ Smiys / Turn over
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10.

11.

4

erav@enAAwir Carenauler sramrin@n Bensafien Carymu eramanfléms.

(<21) 4,400 (<) 5,800 (@) 26,000 (/) 13,600

The approximate number of genes in Escherichia coli is :

(a) 4,400 (b) 5,800 (€) 26,000 (d) 13,600

&CLrGurenmed LHMID jselgeman 2y &luiema

(1) 2OSTEHSHET (<=4) LL@pengseT

(@) urdefwm (/) GengGurenuil_(Hser

-Pseudomonas and Alkaligenes are :

(a) Algae (b) Fungi
(c) Bacteria (d) Bryophytes

WPewwrs 2 &SnGapoueaL b @ pesEsam (molecule) Gen&Cardled(mHEl

lenL_LiLig)

(<=1) 38 ATP (<) 36 ATP (@) 35 ATP () 2 ATP

Complete oxidation of one molecule of glucose yields :

(a) 38 ATP (b) 36 ATP (c) 35 ATP (d) 2 ATP

L ear eramiu@b w@EHbGILEAUTEET GuPLUEL Sreurd
(1) ubureu FTbefl.ClLFDd (<) HanCamem sredlemum

(@) erealGipm engeflam (/) werden lenClems

The medicine Morphine is obtained from :
(a) Papaver somniferum (b) Cinchona calisaya

(c) Ephedra sinica (d) Panax ginseng



12.

13.

14.

15.
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enfleor Lenemuiler @ mGarn Quwir _
(1) 2ACLmhHliguir Gofled (<) CaMGuirLr Wy remen
(&) Gumgrsen Deor@ueradls.Quir (/) HCuraflden SaoGeusvl_fev

The binomial of Manila palm is :
(a) Adonidia merilli (b) Caryota urens
(c) Borassus flabellifer (d) Phoenix sylvestris

SLGUUIL LIMISNIES THU QOOEGHERSISGED, SMHET BriGsQIGEED 2_5a|b
Glgcser

(31) yevedloeumid Qaerger (<21) AsaT Qgersar

(@) simemmasmel Qeaser (/F) smiy Cgevser

These cells are helpful for the rolling and unrolling of the leaf according to the weather
change :

(a) Bulliform cells (b) Silica cells
(c) Subsidiary cells (d) Guard cells

" Gurenm fle <1,EACUTEVEUTDGET LFmEWLD @Dy SrariL@Semar.
Qe enw&Garanyer Coursamers Qsmammdarere.

(<=1) eumessTLIT (<) wrGerr_Gymum

(@) sev@_r (Fr) eflevaid

Certain angiosperms like __ lack chlorophyll and have mycorrhizal roots.
(a) Vanda (b) Monotropa

(c) Cuscuta (d) Viscum

Geurgnellsener 2 pusH Qeliueamal

(1) eopGer@L e (<=24) g emr&CETIDSET

(9) simamssmell Qadsdr (/) genr&Camlerrevl_(Haser
The root hairs are produced from :

(@) rhizodermis (b) trichomes

() accessory cells (d) trichoblasts

[ SwLiyg / Turn over
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16. sradlél. YGemrGralled eTHHemen FmmaEr, @GHDUBKISET 2 GTaTer ?
(=1) 4 giwpser, 23 GHLURSET ()6 FODS6T, 34 GHDUBISET

(@) 5 gieomaar, 27 @Hwurigar () 3 gonsdr, 12 GHbURISET

Calyciflorae includes :
(a) 4 orders and 23 families (b) 6 orders and 34 families

(c) 5 orders and 27 families (d) 3 orders and 12 families

17.  <yevgCurevdlateny® srewriiL®n Li@H
(<=1) EGrriLGaoflwr eflenswenm () ulLrenfludien eflensujemm
(@) Cullsasrullen sersdle (r) eumenpulencoullesr gmiby.

The osteosclerides are seen in :
(a) seed coat of crotalaria (b) seed coat of Pisum

(¢) pulp of Pyrus (d) petiole of Banana

18. qaflé Comgmasmw &5 HobULS grar@Hbd el eme
(<4) 100 nm to 200 nm (<) 200 nm to 300 nm
(&) 400 nm to 700 nm (/F) 700 nm to 900 nm

Which of the following wavelengths of light is most effective for photosynthesis ?
(a) 100 nm to 200 nm (b) 200 nm to 300 nm
(c) 400 nm to 700 nm (d) 700 nm to 900 nm

19. Spsaar erg Brer BHBMOS Sreurd BLEGLD ?
(=) yowslloe (=) Glusrbs (@) eLlev () Cargleno

Which of the following is a day neutral plant ?
(a) tobacco (b) sunflower (c) oats (d) wheat
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gamqen @reamid Hlepe cuarréfuflen CLTgl e (HeuTSEUILIHID LTGISTLIL 21(H& ot
Quwm _ ererliu(pib.

(<=1) UwsCsmev (<2,) Qufi@Lib
(@) erCarGlLrdlen (FF) oeLuaGemrge

The protective layer developed during the secondary growth of the stem is called

(a) epidermis (b) periderm

(c) rhizodermis (d) phellogen

Ursé Cersamaam glaus@h shGsgld <2GLD.

(<=1) AAA (<) AAG (@) AUG (/) ICCA

The initial or starting codon of protein synthesis is :
(a) AAA (b) AAG (c) AUG (d) CCA

Qev_Aéagen Qprd Qeunmred 2 HuFdH QewiuGEng.

(=) urslefuréser (<=1) FFevL(H

(@) wlsfwur s Ceosar () asg s CQFasEnhLd
Restriction enzymes are synthesized by :

(a) Dbacteria (b) yeast
(c) eukaryotic cells (d) all kinds of cells

Gd@asd Cpirs&Carqd LWL, FHH FTLTS J@LHSETEr
eTS@eTenL W & HLDULD

(<=1) wreGeud (<=4,) QererGens
(@) we-GurmAGus () Ww,Cas
The carpels are obliquely placed in the members of :

(a) Malvaceae (b) Solanaceae
(c) Euphorbiaceae (d) Musaceae

[ Spliys / Turn over
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24,

25.

26.

27.

8

BIenE (penar eangeld @dled sramiuBdns).

(=) @oesdows srarssar® (=) @0 elsdmas sraursse(
(@) 9w gdewas sreur Geur () e lsHeas sreur Ceur
Tetrarch xylem is seen in :

(a) Dicot stem (b) Monocot stem

(c) Dicot root (d) Monocot root

©&CrrGurGesrd eremp Cluwer MepsliLBidH e
(1) AL gev (=) surawenLwir (@) url@wrell (/) ooSerbim

The term chromosome was introduced by :

(a) Bridges (b) Waldeyer (c) Balbiani (d) Flemming

Slemarsarailflev penL_GlLmib @)L 1D
(1) usnEsailsD (=) eng_GLmllerrabd

(8) el GLr sremfwr (FF) ense&asT®H

Glycolysis occurs in :
(a) chloroplast (b) cytoplasm
(¢) mitochondria ' (d) thylakoid

Qpevadler * Caroratlssear Crrens * 2 (HeuTdh@6g)

(1) 2pbflan (<) iedleim
(@) g _CLrensefler () 2L8Hs =ifed

“Foolish seedling” disease of rice is caused by :
(a) auxin (b) gibbrellins

() cytokinin (d) abscisic acid



28.

29,

30.
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Qg CamClurm eraflw.9eer g
(<21) @ruLiips Ap@ey. () GengnGamy

(8) upmssLQueTer m@samg () UsTOsq.

Indigofera enneaphylla is a :
(a) prostrate herb (b) twiner

(c) tendril climber (d) shrub

Qprdluden LB srells Carlur® @eurme SamUiL L g

(<31) @er () coGagagi - (@) ysant () Csmeineomeire.

The lock and key theory of enzyme action was proposed by :

(@) Kuhne (b) Fischer (c) Buchner (d) Koshland

Plads_mauis 4&smCorew o meaurs@h Crruyudf erg ?
(=1) QarCasrev Gumryr QuirsCerr (=) wufECaflwur eeayGs

(@) #mBCerCurermen M (/) smGrrencuren

Which pathogen causes Tikka disease of groundnut ?
(a) Cercospora personata (b) Pyricularia oryzae

(c) Xanthomonas citri (d) Tungro virus

[ H®Liys / Turn over
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@S -2y / PART - B

GO : aaaCueid uflenenhg elamesEnsE el walldseb. 15x3=45

Note : Answer any fifteen questions.

31. @mGsre CLWA® wep erempred cranar ? THSHFSTLH SHs.

What is Binomial ? Give an example.

32. greuy auamslUT igen CHTESRISET Wreney ?

Write the objectives of classification of plants.

33. Q@&Csmym sréslaflureler @Gas eul L sHamen efleufl ?
Describe the gynoecium of Ixora coccinia.

34. Cumiggen(h crammmed ereime ? Wlwam LT Swirsreled QUNiSseET® ereuaimm
2_(meundlmg ?

What is pseudostem ? How it is formed in Musa paradisiaca ?

35. GNECHHOD eTEIMTE GTeen ?
What is crossing over ?

36. BISEOSEREGEL, MFVEGRNUSERSGL QoL Cuuydaar Caumur@sar
QreRTenL_ ET(LSIS. :

Write any two differences between tracheids and vessels.

37. 2.9 Geudl Sleiordmid erammred erenan ? rHSHESTLH S(Hs.

What is a biochemical mutation ? Give an example.
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45.
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wiry FEGHESLD CTEIMIE Greve ?

What is genetic code ?

Swe gPBaoar QuHn @melsdHome sreurmsaia CLLITSMmET 6T (IS,
(7Cs@ud epem) -

Write the name of transgenic monocotyledonous plants. (any 3)

wpsHmer QupmieTaTenio eramgl UHH GO TSI,
Write a note on totipotency.

WP QBT erammmed eresien ?

What is holo enzyme ?

B gpaflls Dergged eremmpred erevman ?

What is photolysis of water ?

ATP uQerr ojenolienl) LIL LD GUENTS.

Draw the structure of ATP.

gwifleneoll LjeTefl eremmrey cremer ?

What is compensation point ?

gaflésaurssSn@n, QmlsaurssdbEh eerer CagurBiaer wree ?
Write the differences between photorespiration and dark respiration.

[ Hmys / Turn over
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46. & gafl ursvLflsread s Gblamauid B GumHng ?

State the conditions under which cyclic photo phosphorylation occurs.

47. EMP aul{l$5L 1D cuenyim).

Define EMP pathway.

48. el LsMSHenT LILIGTHENET 6T(LHSIS.

Write the advantages of vernalization.

49. 2.u9M Y&fsQameed eremmed eremmen ?

What is bio insecticide ?

50. géle wridleorfler gCaaid aperm OHSHIEIL LIWLETSEMET 6T(LSIS.

Write any three medicinal value of Aegle marmelos.

LGS - & / PART-C

GO : ()  TaeuCGueb e eSlamésens@ el HHs. 7x5=35
Sjeupmier eflerm erewr 51 M@ sLLrwb el HeflEsCouam@pi.

(i) Cgeveuwren @L misafled LLLD eumys.

Note : () Answer any seven questions including question no. 51 which is compulsory.

(i) Draw diagrams wherever necessary.

51. QantCGuflugdler wa&Husgleigms erps)s.

Bring out the significance of herbarium.




a2,

53.

54.

55.
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59,
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WSlyyer wpmid FreuGerer greurkisEréda Cuujerar CaupgiLrhisear er(pSIs.

Write the differences between Musa and Ravenala.

Ll _enL_gglearaer (Lenticels) Lpdl @GHlLY euenrs.

Write short notes on Lenticels.

Amedsdons sraur Gaauler GnéEE a0 ComhpseamsiuLLD QUETHS

UTSEIGMETS (GD).

Draw and label the parts of a T.S. of Dicot leaf.

FOOMLEGPTL Fmmiser UbHdl @Ol euemrs.

Write short notes on sieve elements.

Senn SHie LTHOL LUHH An GO THSIS.
Write short notes on gene mutation.
Apliyeuams GCrmGLrGerbsailan UL amIhs LUTEhSmaTs Ghl&sa,w.

Draw and label the parts of special type of chromosomes.

Frourhseic W geanger ereueury LGSsLLGSammer ?

How are foreign genes introduced into the plants ?

saflQee Lrsb euerum. saflced LTSSEen LTSS 6T(LPSIS.
Define SCP. Write the uses of SCP.

[ Hiplis / Turn over
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60. u&rﬁj&;mﬂ&;‘g@ﬁh Slewwlent edleuf,

Describe the structure of chloroplast.

61. CuenGLmev uravGul anfissL sdlen WeHussiousms T (LPGIS.

Write the significance of Pentose phosphate pathway.

62. LBEglesHd manapuiiser LBl An GOy erps)s.

Write short notes on microbes in medicine.

U@ - = / PART-D

GOy : ()  ereveuCuianib w6, eflanrésEnd@ elen &(ms. 4x10=40

(i) GCoeeuwrar @ risalld LD cuamrs.

Note : (i) Answer any four questions.

(i) Draw diagrams wherever necessary.
63. (1) GQuBsDd LHMID enssilar euems LT g6 Blepmsenar er(1pgis.

(<=21,) e 9Cwé & MbLISH 6ot QureTTsTy @éé]u_lggjeu‘&,emg CT(LPTIS.

(a) Bring out the merits of Bentham and Hooker’s classification.

(b) Give a brief account on economic importance of Rubiaceae.

64. @meigdoe greuy Ceuflar weoBlana ewlienu afeuf.

Describe the primary structure of monocot root.

65. dear GLrflwr QLiGarefwirene (sreur) sewedCasrhserma afleul.

Describe Clitoria ternatea in botanical terms.
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67.

68.

69.

70.
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&CprGLrGemd iemwinded Gnld updl uLSg1 6 eSleuf.

Explain structural chromosomal aberrations with diagram.

STeUFsSSHe euemTUIN6T LIWENSET Wrene ?

What are the uses (applications) of plant tissue culture ?

paflECeismsuien Qmer eflenansamer (sraedlen sLHA) eTpgis. (=i L cuemamr
SjOG efleTdHsLD)

Write an account of dark reaction (Calvin cycle). (flow chart or explanation)

@ GLrensaflen Hmb ergfalen aumpeilwic efenaraysdr LHBl erps)s.

Write the physiological effects of cytokinin and ethylene.

Gpe wHmL Caadler QuImETTETT WPEALSSHUSDS T (D55,

Write the economic importance of rice and teak.
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